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Solve by elimination:

1. 2x+3yz7 ey
—((ZX"'Y:S) _%X_Lj\ﬂ;-j

\

NO
X
o L
L
W
O}

Aug 13-9:03 AM



U3D1 - Solving Linear Systems.notebook October 12, 2018

2. bx-2y=4 2
2(-2x+y=2) 2\ 2Ry
-—%xf2 40 -29 =4

40 40

—Qg- -3

(S, I%> = =
tg"l%'

Aug 13-9:07 AM

3. A scientist wants to create 120 ml of a solution that is 30% acidic. To create this
solution, she has access to a 20% solutionand a 45% solution. How many millimeters
of each solutionshould she combing to create the 30% selution?
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What if you want to solve for 3 variables?

S("‘ Lwp 3 Cﬂ)uc\l—{or\s w/

3 W\JQ’\O«AN\S.

Aug 13-9:07 AM

How would you solve the following?
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